’( A ( N Y Multiplication ( multiplier 7 )

Nom: Date: Note: __
9x7= 2xT = 6 x7= 9x7=
4 x7 = 3xT= SxT = 3x7=
1 x7= & x7 = 4 x7 = TxT =
& x7 = 10x7 = 6x7= 4 x7 =
6 x7= 3xT= SXT = 6 x7=
7T xT = 1 x7= 7T xXT = 3x7=
4 x7 = 3x7= Sx7T= 6x7=
2x7 = 10x7 = 1 x7= 4 x7 =
1 x7= 7T xXT = 4 <7 = 8 x7 =
SxT = 6 x7= 10 x7 = 4 <7 =
9x7= 10x7 = T xT = 3x7T=
1 x7= 3x7= 2x7T = & x 7=
2 x7T = SXT=

www.snowmath.com


https://www.snowmath.com

b o g %Y

Multiplication ( multiplier 7 )

4 x7 =28

1 x7="7

8 x7 =56

6 x7=42

7x7=49

4 x7 =28

2x7=14

1 x7=7

5x7=35

9x7=063

1 x7=7

2x7=14

2x7=14

3 xT7T=2I

8 x7=56

10 x7 =70

3xT7=21

1 x7="7

3xT7T=2I

10 x7 =70

7 xT7T=49

6x7=42

10 x7="70

3xT7=21

5x7=35

6 x7=42

5x7=35

4 x7 =28

6 x7=42

5x7=35

7 x7T=49

5x7=35

1 x7=7

4 x7 =128

10 x7="170

7 xT7=49

2x7=14

www.snowmath.com

Date:

9x7=063

3 xT7=21

7 xT7=49

4 x7 =128

6 x7=42

3 xT7=21

6 x7=42

4 x7 =128

8 x7 =156

4 <7 =28

3xT7=21

8 x7 =156

Note:
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